CITY OF RIALTO ABSTRACT OF BIDS

Bid Number: RFB 21-022

Bid Due Date: 2/16/2021 at 4:00 P.M.

	VENDOR			Daniel	s Ti	re Service	Bord	er Tire	Parkho	use Tire
	PHONE			562-321-1279			213-514-2675		909-251-2829	
	CONTACT			R	ob \	Vood	Pete Pro	ovenzano	Israel Roman	
	LOCATION			Santa I	Fe S	Springs, CA	Fonta	na, CA	Fonta	ına, CA
ITEM	DESCRIPTION	QTY		UNIT		TOTAL	UNIT	TOTAL	UNIT	TOTAL
001	01-1.75-80-13 TRAILER TIRES	4	\$	49.00	\$	196.00	\$ 37.03	\$ 148.12	\$41.95	\$167.80
002	11 - 15 TRAILER TIRES	20	\$	78.00	\$	1,560.00	\$ 70.53	\$ 1,410.60	\$116.47	\$2,329.40
003	205-75-14 TRAILER TIRES	12	\$	59.00	\$	708.00	\$ 43.53	\$ 522.36	\$50.10	\$601.20
004	215-60-17 PASSENGER TIRES	20	\$	69.00	\$	1,380.00	\$ 73.09	\$ 1,461.80	\$73.95	\$1,479.00
005	225-70-19.5 HEAVY DUTY TIRES	40	\$	122.00	\$	4,880.00	\$ 215.00	\$ 8,600.00	\$282.00	\$11,280.00
006	235-60-17 PASSENGER TIRES	12	\$	89.00	\$	1,068.00	\$ 92.41	\$ 1,108.92	\$89.73	\$1,076.76
007	245-70-19.5 HEAVY DUTY TIRES	12	\$	141.00	\$	1,692.00	\$240.00	\$ 2,880.00	\$292.00	\$3,504.00
008	4.80-12 TRAILER TIRES	12	\$	29.00	\$	348.00	\$29.41	\$ 352.92	\$34.55	\$414.60
009	7.00-15 TRAILER TIRES	12	\$	71.00	\$	852.00	\$88.23	\$ 1,058.76	\$85.00	\$1,020.00
010	7.50-16 TRAILER TIRES	12	\$	83.00	\$	996.00	\$106.49	\$ 1,277.88	\$102.05	\$1,224.60
011	225-75-16 LT TRUCK TIRES	20	١	No Bid			No Bid		\$147.63	\$2,952.60
012	265-75-16 LT TRUCK TIRES	20	١	No Bid			No Bid		\$166.12	\$3,322.40

	235-65-16 LT TRUCK TIRES	20					
013	The second secon	20	No Bid		No Bid	\$125.17	\$2,503.40
014	275-65-18 LT TRUCK TIRES	12	No Bid		No Bid	\$165.73	\$1,988.76
015	225-70-15 LT TRUCK TIRES	12	No Bid		No Bid	\$91.80	\$1,101.60
016	235-70-16 PASSENGER TIRES	20	No Bid		No Bid	\$101.50	\$2,030.00
017	235-70-17 PASSENGER TIRES	12	No Bid		No Bid	\$104.67	\$1,256.04
018	205-65-15 PASSENGER TIRES	8	No Bid		No Bid	\$69.98	\$559.84
019	225-60-18 PURSUIT TIRES	60	No Bid		No Bid	\$118.01	\$7,080.60
020	235-55-17 PURSUIT TIRES	100	No Bid		No Bid	\$111.67	\$11,167.00
021	245-55-18 PURSUIT TIRES	60	No Bid		No Bid	\$130.77	\$7,846.20
022	235-85-16 LT TRUCK TIRES	12	No Bid		No Bid	\$105.07	\$1,260.84
023	245-75-16 LT TRUCK TIRES	12	No Bid		No Bid	\$106.07	\$1,272.84
024	245-75-17 LT TRUCK TIRES	12	No Bid		No Bid	\$138.56	\$1,662.72
025	215-85-16 LT TRUCK TIRES	12	No Bid		No Bid	\$100.01	\$1,200.12
026	265-70-17 LT TRUCK TIRES	12	No Bid		No Bid	\$141.87	\$1,702.44
027	275-65-18 LT TRUCK TIRES	12	\$ 160.24	\$ 1,922.88	No Bid	No Bid	
028	225-60-16 PURSUIT TIRES	20	\$ 90.00	\$ 1,800.00	No Bid	No Bid	
029	225-60-18 PURSUIT TIRES	60	\$ 113.30	\$ 6,798.00	No Bid	No Bid	
030	235-55-17 PURSUIT TIRES	100	\$ 109.00	\$ 10,900.00	No Bid	No Bid	
031	245-55-18 PURSUIT TIRES	150	\$ 123.00	\$ 18,450.00	No Bid	No Bid	
032	225-70-15 LT TRUCK TIRES	12	\$ 93.75	\$ 1,125.00	No Bid	No Bid	
033	225-75-16 LT TRUCK TIRES	12	\$ 105.00	\$ 1,260.00	No Bid	No Bid	

034	235-75-15 TRUCK TIRES	12	\$ 66.00	\$ 792.00	No Bid		No Bid	
035	205-65-16 PASSENGER TIRES	8	No Bid		\$ 101.00	\$ 808.00	\$117.60	\$940.80
036	11-R22.5 H BST R250 ED SWP	4	\$ 229.00	\$ 916.00	No Bid		\$461.14	\$1,844.56
037	225-70-R19.5 G CONT HSR	18	No Bid		No Bid		\$301.64	\$5,429.52
038	425-65-R 22.5 L MIC XYZ 3 (WB)	20	No Bid		\$ 718.00	\$ 14,360.00	\$693.00	\$13,860.00
039	11-R 22.5 H MIC XDE N/S	20	No Bid		\$ 551.00	\$ 11,020.00	\$460.80	\$9,216.00
040	12-R 22.5 H MIC XZE	20	No Bid		\$ 538.00	\$ 10,760.00	\$513.00	\$10,260.00
041	11-R 22.5 H MIC	20	No Bid		\$ 361.00	\$ 7,220.00	\$336.00	\$6,720.00
	Estimated Grand Total Bid for	Tires:	\$	57,643.88	\$	62,989.36	\$	120,275.64
	Exceptions/Clarifications	ations						

Category 1

For Sport Utility Vehicles (SUV), Passenger Vehicles or Light Trucks (1/2 ton to 3/4 ton)

	VENDOR	Daniels Tire Service	Border Tire	Parkhouse Tire
Α	On site labor charge	\$75 per hour	\$65 per hour	\$99.50 per hour
В	Dismount/Mount labor charge	\$15 per hour	No Charge	No Charge
С	Flat repairs labor charge	\$31 per hour	No Charge	No Charge
D	Parts charges	Market	No Charge	No Charge
Е	Valve stems	\$3.95	\$4.00	\$4.50
F	Flat repair supplies	\$6.50	No Charge	\$9.25
G	Shop supplies charges	No Charge	No Charge	No Charge
Н	Tire disposal fee	\$6.00	\$4.00	\$5.50
I	State recycle fees	\$1.75	\$1.75	\$1.75
	(List any additional charges below)	*****	*****	•
J	Additional Charge Per Mile Over 20			\$1.00
K	Emergency Services	\$95 per hour from portal to portal		\$
I		Too por mount norm portain to portain		
	Total Per Call	\$139.20	\$74.75	\$120.50

Category 2

For Ambulances, Dump Bed Trucks or Medium Trucks (1 ton to 1 1/2 ton)

	VENDOR	Daniels Tire Service	Border Tire	Parkhouse Tire
Α	On site labor charge	\$75 per hour	\$65 per hour	\$99.50 per hour
В	Dismount/Mount labor charge	\$25 per hour	No Charge	No Charge
С	Flat repairs labor charge	\$31 per hour	No Charge	No Charge
D	Parts charges	Market	No Charge	No Charge
Е	Valve stems	\$3.95	\$7.50	\$8.50
F	Flat repair supplies	\$6.50	No Charge	\$9.25
G	Shop supplies charges	No Charge	No Charge	No Charge
Н	Tire disposal fee	\$10.00	\$7.00	\$12.00
I	State recycle fees	\$1.75	\$1.75	\$1.75
	(List any additional charges below)			
J	Additional Charge Per Mile Over 20			\$1.00
K	Emergency Services	\$95 per hour from portal to portal		
I				

	Total Per Call	\$153.20	\$81.25	\$131.00
--	----------------	----------	---------	----------

Category 3

For Fire Engines and Apparatuses

	VENDOR	Daniels Tire Service	Border Tire	Parkhouse Tire
Α	On site labor charge	\$75 per hour	\$65 per hour	\$99.50 per hour
В	Dismount/Mount labor charge	\$25 per hour	No Charge	No Charge
С	Flat repairs labor charge	\$31 per hour	No Charge	No Charge
D	Parts charges	Market	No Charge	No Charge
Ε	Valve stems	\$3.95	\$7.50	\$8.50
F	Flat repair supplies	\$6.50	No Charge	\$9.25
G	Shop supplies charges	No Charge	No Charge	No Charge
Н	Tire disposal fee	\$10.00	\$7.00	\$12.00
I	State recycle fees	\$1.75	\$1.75	\$1.75
	(List any additional charges below)			
J	Additional Charge Per Mile Over 20			\$1.00
K	Emergency Services	\$95 per hour from portal to portal		

I				
	Total Per Call	\$153.20	\$81.25	\$131.00

Category 4

For Off-Road Equipment (Tractors, Backhoes, Loaders and Graders)

	VENDOR	Daniels Tire Service	Border Tire	Parkhouse Tire
Α	On site labor charge	\$75 per hour	\$107 per hour	\$125 per hour
В	Dismount/Mount labor charge	\$50 per hour	\$40 per hour	No Charge
С	Flat repairs labor charge	\$50 per hour	\$60 per hour	No Charge
D	Parts charges	\$15.00	\$10.50	No Charge
Е	Valve stems	\$12.00	\$12.50	\$12.50
F	Flat repair supplies	\$10.00	No Charge	\$20.00
G	Shop supplies charges	No Charge	No Charge	No Charge
Н	Tire disposal fee	\$25.00	\$30.00	\$30.00
I	State recycle fees	\$1.75	\$1.75	No Charge
	(List any additional charges below)			
J	Additional Charge Per Mile Over 20			\$1.00
K	Emergency Services	\$95 per hour portal to portal		
I				
	Total Per Call	\$238.75	\$261.75	\$187.50